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Q-
T‘E:';-E: _E = H,:;E’:-
How many electrans are there in | coulomb ol negative charge ?
(8)  625x10'F (b) 62.5x10'
(©)  6.023x102 (d) 1.6x107"

A chape Q is divided into two parts g and Q-g. If the coulomb repulsive between |
them where they are separated is to be maximum, the ratio of (Q/q should be

(@ 1:1 (b) 2:1 VLGV

e (d) 1:4

Consider two capacitances of capacity € and €3 which are connected in series

and have potential difference V between them. What is the potential difference

across C)7? f-ﬂ@-&_
CT 1 C-_"-' _L

@ g+, ® " g+c, Er*cl

V Cl -+ CE - It E:i o~
(c) q @  q C.A=F
Which of the following graphs is correct for 1-V characteristic of a semiconductor

@ | , t t (© t (D)
Ii'rr
I / 1 I |
.JI—III
' , V .y -y o

A resistance R is to be measured using a meter bridge. A student chooses the
standard resistance S to be 100 Q2. She finds that the null point at j=2.9 cm. She
is tald to improve the accuracy. Which of the following is a useful way? |

(2)  She should measure /; more accurately,
(b)  She should change S to 1000 © and repeat the experiment. &'
(c}  She should change S to 3 Q and repeat the experiment.

{d)  She should give up hope of a mare accurate measurement wn‘,hn‘

bridge.

(3)

o
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the cell that converts the potehtial encrgy from o fuel into

6.  What do we call

electricily?
(b) Galvanic cell

()  Electrolytic cell /
(¢) Drycell ,MFLIL’:NE“

7. A small magnet M is allowed to fall through a fixed
The accelerntion of M will be:

horizontal conducting ring A,

Lel g be the acceleration due (o gravity.

i3
)
(1) < g when ltis above & and moving toward R
(1) > g when it is above & and moving toward R
() < g when it is below R and moving away from R
(IV) = g when it is below R and moving away rom R ,
(@) landIll by 1 D W L
=9 « AT &I
(e} Hand IV (dy I o L "Te WX
B. A force Fis given by ' =ar+bt where 1 is time, What are the dimensions of

constant a and h? e
(@) [u}{MLTB] :b]=[MLT":| MALT
w [a)=[MLr?], b]=[ MLT? ]

y  [al={mUtT | o) MLt

ML T3], [b]=[ML—LI.-q]

B:33(SET-A) (4)
s

Sl -,
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10,

11,

A rectangular, a square, a cricular and an elliptical loop, all in the (x-y) pline, ore
maving out of a upiform field with a constant velocity ¥V = Vi (in the X-direction),
The magnet field is directed along the negative z-axis direction. The induced emf,

during the passage of these loops, oul of the field region will not remain constant

for PRVE

(a)  the rectangular and square loops
(b)  the circular and elliplical loops
(¢) only the rectangle and elliptical loops

(d)  ull the four loops o B g o
' W

A de ammeter and a hot wire-ammeter are connected to a cir-:tfil in series, When a
direct current is passed through cireuil, the de ammeter shows 6A. When ac current
flows through circuil, the ac ammeter shows &A. What will be reading of each
ammeter i de and ac current flows simultancously through the cireuit?

(a) dc=06A,ac=10A (Y dc=0G6A,ac=35A

(¢) de=35A,ac=8A (d) de=2A,ac=3A

Mass M is splll into two parts m and M-m, which are then separated by certain
distance. What is the ratio of m/M which maximises the pravitational forces

T Al ™M=
between them? M B

L - M

AW .
(@) 32 m/m bt e 4 5[1;1_1;1;*3
L-II.ﬁIE.I.‘- .T.b)' I'I;‘ ] _._F_,.'.;[.',L"
(e) 2 (d) 273
. 2 T
(5) Bt 2 M
aM 3 A
_ ™ 8- -
I:-*" et Wl el i T
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Two point particles with masses ™1 and ™2 are thrown at anples & ind ¢

horizontal with speeds Y1 and '2 respectively. R. [ and T are range, hﬁﬁht_: 1

total time of fight respectively. Let v sind, =v,siné. Then for both particles,

which of the following is true? WAL w2 <.

& Jrs
(a) T, H and R are different. v L . N
(b) Hand R will be the same but T will be different -l o€
() Tand Rare same but & will be different v, VG
':,4]- Tand H are same but R is different P A ,/'/

A body is moving with uniform velocity of 8m/s. When the body just crossed

——

another body, the second ons starts and moves with uniform acceleration of 4mfs.

[ ~

The time after which two bodies meet will be v BWS N
—_—n .{_,-“Il I'E

[ﬂ} 25 {b} dﬂ ‘:_._;-__ ‘.-_‘__ —

() 6 @) §s &= v=uwed

LW

* A monkey of mass m (in ke) slides down a light rope attached 1o a fixed spring

balance, with an acceleration a. The reading on the spring balance is W (in kg) [gis :
an acceleration due to gravity]. Which of the following is tru=? ’
(1)  The fores of friction exerted by the rope on the monkey is m (g-a) i
M m= Wg/(g-al Y-

(M)  m=W/I+ a/z)

vy ' :L
(IV) The tension in the rope is J¥e e mﬁ
! wil
(a) LTI (b) IL,IV dﬂ ( |
(c) 1,010 ﬂ_gga& © (@ LILIV T '
‘6 . - T= f','n_% 1-11:3[1_'[',_0,
: RS
B-53 (SET-A) = -2 ©) WE Tt i
55 Q) v
g+ b
- 2 - "_"_,J..-
-0 A (PR =
h : __,-’g.d"’ TQJ o’ ﬁr"mw )
- g_-a".i'
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15.

A man weighing 80 kg is standing on a trolley weighing 320 kg, The trolley iy
resting on a [Trictionless horizontal rails. 10 the man storts walking on the trolley

along the rails al speed 1 m/s with respeet to the trolley, Then alier ds, his

displacement with respect to the ground will be:

(a)  4m (b) 3.8m
(c) 3.2m (d) 0.8m

16. A machine pun is mounted on 0 2000 kg car on o horizontal {rictionless surfnce. Al
some instant the gun [ires bullets of mass 10 gm velocity of 500 m/s with respect 1o
the car. The number of bullets lired per second is 10. The ;w:.}_rluge thrust on the

. i

system is: I| ' l |
(a) 40N (b) 50N " a
(c) 0.0002N (d) 0.002N

17. A eylindrical block of wood of mass m and area of cross-section A is floating in
water (density £) with ils axis vertical. It is depressed a litle and released. If the
motion of the block is simple harmonie, the period of oscillation 15
@ 2mlpde ) 2mme/pd
© Zﬁm (d) (27 / nrag}.ﬂa

B-53 (SET-A) )
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(e 3

, 10 slide down an
18, Whatis the iime taken by the body 10

inclined plane il the |e
the inclined plan

i - of inclination,
L the retardation, and @ is the angle 3
eisl, aas

e

2/ g |
_.E:f_g (b) VYasin®
[a] gsin
2] b
(c) m (@ s B
, That 3
19. A Proton and an g-particle have the same de Broglie wavelength. What is the same
for both of them?
(a) Energy

(b) momentum
M - Frequency

(d) Mass
0.  Which of the following statements is correct regarding the photoelectric
experiment?
(a)
(b)
tc)

The photocurrent increases with intensity of light

Stopping potential increases with mcrease in intensity of incident light

the photocurrent increases with increase in frequency
48 All of the above

A free neutron decays to a proton but a free proton does not decay to a neutron
This is because

(a) neutron is an uncharged particle whereas proton is a charged particle
(b)

proton is fundamental particle

(c)

neutron is a composite particle made up of a proton and an electron whereas

neutron has larger rest mass than the proton

| ';'.73—53 (SET-A)

e (8)

k&ﬁ/ weak forces can operate in a neutron but not in a proton.

s
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22.

23,

24.

25,

» =
s = Ly
E r T-.';'z. = i
wWE) = __,RA}:-.J =
(L' . V=T [y
-__',.--'"d____‘l.l-'l-:l
: t:"'.i-

Two coherent monochromatic light beams of intensilies | and 4] superimpose. The 4

maximum and minimum possible intensities in the resulting bean are: » __,.-a.g_"'."
(@) 8landl ) STand3| e <Nat
() 3land} (d) 9landI

Two identical monoatomic gases at temperature /i and 72 are mixed so that there is

no loss of energy. If the masses and the number of the molecules of the two gases-

are M, 7ty and ny, i respectively. The temperature of the mixture is :

T:M P T:HITI ‘I‘ﬁ'ETZ
(@) iy (b) ny+ 1ty
TzJM T T
) - (d) e

If the earth were to suddenly expand to nwo times of its present radius without any

change in its mass, the duration of the new day will be nearly (in hours)

(2) 48 hours (b) 36 hours
is:)/ 12 hours (d) 96 hours
Four solid sphere A, B, C and D each of mass m and radius a, are placed with their.

centres on the four cormer of a square of side 5. What is the moment of inertia
ABoc B
e D

of the system about one side of the Square?

2. .1 sk
{a) _gm(4'ﬂ2+55z) (b) %m(ﬁaz —I—%z)
I i - 2 . i) . . 2 ,
9 _5"”(4“ +9b ) (d) Emr(?a +4b2)
& (9)
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26.

27

30.

3.

32.

i (‘ L_'F?} i ﬂ . Ty T.‘r} .

when mulliplied with an integrating factor

A ) v N
(@ T @ 1T &

It S (x)= x| +x* then f(“]):? y*'ff’.;i ,1,":"
(a) -3 (b) - =& fm ®
() 1 (d) 3 Q <%L

If @ and b are unit vectors, then what is the angle between & and b for (V3a- b}
to be a unit vector 7 S

J i

M) 300 (b) 45°

(€  60° (d) 90° (

: gh’"?'f \" e
For which of the following distribution means and varianc

e are equal &

(@)  Normal Distribution (b) Poisson Distribution

w s

70

(¢} Binomial Distribution (d) Negative Binomial Distribution

Find the equation of the lanpent 1o

the curve y=272* for y = In2
(@) 2y=x-+2In2 (0 2y=-x+2In2 9
() 4y =2x+|+2Im (d) dy=-2x+1+ 212 }"'_’“,5 2 -3C ®
: Whu'g is the first derivative of p=3"9 A,
(a) Finx () ¥ [e%+e%7 nx] =
X

'._-JE'L.. E_+ :'-_.J' :
(e PSS

Il -
Caleulate T_Tg 25 7 =7
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NI ::T\' ‘?,_ - fq_l_d:}f'qu.ﬂﬂl\ . fir
l"‘i; ! ' / \ D' ﬂﬁl'ia ﬂ-‘:"l--*i § ol ﬂd o . b
‘h'h Lr“} 5 . n'l;Lt.;
2 A% o B
i3 Cﬂ-eﬂ':l:i'nnlnf-t:' in the expansion of [H * ) (1+2)"is £ "'w:m‘;‘-“zﬁl 5
(a) 30 (b) 40 \ O '
(c) 50 (dy 60 |
. Ifthe Eml. 5t qnd o G an AL are in G.P, then the common ratio of this {;L.:_:-:nd*‘-
" Al i
(n) B3 Why 4/3 ‘U\-..*_ P . #’,
e) | (dy 7/ ° {-‘{ T
!" [ ﬁq E"" {111' Ea.l
9
(! 2. 3isindl LR ‘
- : icly ST bs purely imaginary, 150 . L
35.  Avalueof  for which rsind P 0 th‘;'ﬁ.-
" e
4 :
(@) 3 (b) 6
3 e -1[ | J
]| N2 11 I B _ N
(c) 5N [ J ] 5-';,I'..” *."r.'i q. + 3L ime r__l"_l"_‘.:‘_ll'-r:?l"[:-f
S T T R S
X = 21L5LmP L.! -
Qo a4y L e A S ) v bl
| 2 2 - ]"+35|.ir}1£'r
'9'1 - .i"' e e
Y& qpA=|2 | -2 | is o matrix satisfylng the equation 44" =91, where 1is 3=
a 2 b }'4-"'(:_11&"'1_"?_ e
identity matrix, then the pair (a, b) is eiual to: T Gumte
@ (2-1) (by ¢-2.1) 5 16 MO
(¢} (2,1) (d) (-2,-1) é'- L SLMTO
| [.I-"F-I—J . k.
37, The integral j'(|+.1'——-]9 ey is equal to oy e
k3 . ; 1 &
Lo+ 7 ] [':. i 3
'J @, SR
x4= e .
(a) [x+l}e[ *ye (b) =xeb *HC gy 202-Y arusb
[th-ﬂ"" gr 1t 1r.‘.'.1r1-.."!..|;_i_
( l] aof 13h Sl sk aiMre?
=
() xer 'OtcC
(1)
Gb""ﬁ
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y i
?E"HH oo . =8 -;- 2001 high and ils clevation from i puim
Qqﬂ- A bird is sitting on (he top of a vertical pole =
. . etraieht away frem the point O
. O on the zround is 45" i fics ofl harizontally slraight away 1 P
. _r ‘e reduc  Then the s
ﬁ\f? Afler one second, the clevation of the bird [rom 0 is reduced to 30 h peet
"}“ o 1| nu.E{.
v g (n misee) of the birdis Al
‘Eh [ B i~ !: e ”
425 a0 20(J3 =1) bt
% (a) 2042 . ) 200 \W
N l';} 20652 -1 W 2003 -¥2)
e
% o
39, The number of [ICL molecules present 0 10 mlal' 0.1 N HCL solution 15
(@) 6.022x10% () 6.022x10%
() 6.022x10% () 6.022x10%
a0, Ln areaction A and AS hoth are more than zero. In which of the following cases
Hie reaction would be spontancous
{:ﬂ"' Al > TAS (b) TAS > Afl
() O =AY (d) none ol these
41.  Hems of combustion of Cily CoH g, Callg are -890, 1411 and —1560 k)/mal
respectively, Which has the lowest fuel value in kl/g?
CH, Call
(o) (hy Cafly = I
© Cf (d) all same
42, The halt-life period of o radioacli idei i )
p aclive nuclide is 3 hours, In 8 hours its activity will b
duced by ¢ .
reduced by a factor of T e * 1 0w
(a) 19 b 18 q.nhee g
N\
© 127 @ e N o %ﬁ)"
-] |
B-53 (SET-A) (12)
(Tt o=
fin 2ig

Scanned with CamScanner



a3.  The ratio of rms velocity to averape velocity ol pas molecules at o particular

temperatute is
(B  1.086: 1 (b) | :1.086
(c) 2:1.086 (d) 1.086:2

- " - 3 - . L] . i W n
44.  Which of the following colligative properties 14 associated witl the concentratio

term 'mafarin’ ?
(n)  Lowering of vapour pressire () Oamotic pressure
(d) Elevation in boiling point

[.:]- Depression in [reezing point o
£ PCl5 nitially. I at equilibrium, Ke ls

45 A one-litre container contans 2 moles o

found to be 1, degree of dissoctation of PCls s il I[:

by -1 by
() | ( .
© 12 () 50

' » ubled,
46. For a reversible peaction if the concentration ol the reactants are do

equilibrium constant will be: i A+ b —3 b
() doubled (b) halved o
(c)  one-fourth (d) 5“‘3’:: | s L
47.  The plf of 0.1 M N}, solution (ﬂ,n, =|.8x10 ) is | -
L\
(@) 113 (b) |
(c) 13 (d) none of these

i initi i le per litre
48. A first order reaction is carried out with an initial concentration of 10 mole p

P i [ 5 a d
| ' ' anie reaction s camie
and 80% of the reactant changed into product, Now i the sa

v thi t changing
out with an initial concentration of 5 mole per litre, the % of the reactan &

lo the product is

(b) 80
(d) cnn‘lhcculculnl:d

(13)

Scanned with CamScanner



o,

A

49, [|na palvanic cell
4] “Chemical reaction produces clectrical encrgy
(b)  electrical energy produces chemical reaction
(e} Reduction occurs at ancde
(dy  Oxidation occurs at cathode

50.  The number of atoms per unit cell in a simple cube, face-centred cube and bod
centred cube are respectively
(@ 1,24 (b) 8, 14,9
() 8,4,2 dd) 1,4,2

51, Inthe Froth Floatation process, 2inc sulphide and lead sulphide can be separated by
(a)  using collectors (b) Adjusting the proportion of oil to water
(e)  Using water {d) using froth stabilisers

52.  Which of the following is the modt stable complex species 7
@  [Fe(co)] o [Fe(en),]”
() [FE{HIG:IE]H (d) [!"f[E:ﬂ.i )y ]]_F

53.  Which of the following elements does not show allatropy?
(a)  Nitrogen (b) DBismuth
(c) Antimony (d) Arsenic

54,  The oxidation state of central alom in the anion of compound Naff2PO, (i1 pe:
@ +3 by +s Mo d
(c) +l (d) -3

B-33 (SET-A) (14)
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5.

56.

57.

38.

39;

Which of the following is P
& 15 correct for %4 moleeute of whiye

phosphorus?
(2) [t has 6 lone pairs nfelcnlnmu. (b) |

It has six p-p single bonds, ..

(¢)  Ithasthree P-P single bonds. -

(d) Al the above

Element of group- 15 farm

co e tdatl
mpounds in +5 oxidation state. However, bismuth

forms only one well characterized compound in -5 oxidation state which is:

(a) BiyOs (by Bifs

(©) BiCls @ BiaSs
Which of the following is isoelectronic pair?

@ [Ch.ClO; by BrOy, Brfs

(c) C10,, Brk @) CN".0;

Interstitial compounds are formed when small atoms are trapped inside the crystal
lattice of metals. Which of the following is not the characteristic property of
interstitial compounds

(a) They have high melting points in comparisor to pure metals.

()  They are very hard,

I[i,‘_q:. They retain metallic conductivity.

(dY” They are chemically very reactive.
Which of the following lanthanoids show +2 oxidation state besides the
characterislic oxidation state +3 of lanthanoids?

(@) Ce (b) Eu

(c)  ¥Yb (d) Both B and C

(15)
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60.  IUPAC name of [f'fU“"”; ), CI{NO, ]] is:
(n)  Platinum diaminechloronitrite
(b)  Chloronitrito-N-ammineplatinum (I1)
(¢) Diamminechloridonitrito-N-platinum (11)

(d)  Diamminechlaronitrito-N-platinate (I1)
61. Duc 10 the presence of ambidentate ligands coordination compounds show

isomerism. Palladium complexes of the type [Pd(CﬁHﬂz(SCN)Z] and
[ Pd(Cets),(NCS), ] gre

(a) linkage isomers (b) coordinntion isomers
(¢) ionisation isomers (d) peometrical isomers

62. Atomic number of Mn, Fe, and Co are 25, 26 and 2?-rr:sp:cliv¢ly. Which of the

following inner orbital octahedral complex ions are diamagnetic ? 5

3 43 ud
(@ [Co(Nits),] (b) [Mn{ﬂ'f]ﬁ]}* 'S =g
y ues =
(c) [FE[CN].&T (d) BothAandC we Eae

63.  Which one of the following does not have 3132 hybridised carbon ?

(a) acetone (b) acetic acid
(c) acetonitrile (4) acetamide (ﬂ)

64.  Asprin is known as;

(n)  acetyl salicyclic acid (b) phenyl salicylate
(c) acetyl salicylate (d) salicyclic acid
P.T.O
B-53 (SET-A) (16)
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Picric acid is:

85, i
OH
O}
O,N NO
2 Br B
(a) (b)
NO, Br
OH ~ coon
Me Me O,N NO,
(c) (d)
Me NO,
66. Which of the following compounds on hydrolysis gives methanc 7 5
CaC (b) Mg.Cy [.‘_th\"l'l-
{«ﬂ] 2 [{l:-\- rru.l_".'ii-'.‘-
f  AlLC (@ Cull (ol RS
inthe | body is: WA o
67. The most concentrated source of energy in the human ‘ WM w0
LAY
(¢f  Nucleic acids () Sugars IC"ML[}"I::‘- HI.-.LQ
o
( Proteins I:{I] Fats F.Q,LI,C‘E'THJP
68.  When cyclohexane is poured in water, it {loats, because: ,l \R_';],
(3} Cyclohexane is in 'boat’ form b
(b)  Cyclohexane is less dense than water
()  Cyclohexane is in ‘chair' form
(d)  Cyclohexane is in 'crown' form

(17)

- : .I|
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69.  Which of the vitam|ns given below is water soluble?
[ﬂff Vitumin K ,Lb['f‘-"ilmnin D
() Vitamin E (d) VitaminC
70.  Which compound has the highest melting point?
(a) p-Dibromobenzene (b) o-Dibromobenzene
(c)  m-Dibromobenzene (d) Bromobenzene

u [I ! i *
7. How many 2" and 3" carbon atoms are present in the given compounds

respectively?

{a) 10 and 4 (b) 9and4
(ﬂ/gﬂﬂd3 (L” ﬁl'lﬂd|

72, Which is the structure of pyrrole?

o L) VA

0
/ | N
(<) s @ \ _~

P.T.0,
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Which of the following compound has linear structure? [\?’3

{21 ~ methane (b) ethane
(d) ethylene

1

(¢) ncctylenc

74, Which among the following is most acidic?

) CH,COOH by CRCO0H
(@ cchcoon () CBnyCOOH
75 How many sigmn and pi bonds are present respectively, in CH,=C=CHy 7
(o) Sand2 (b) 3and3 = C,.':—':_H
(c) 4ondd (d) 6and2 \ }1_.1
76. Drawing attention to the pitfalls of _____ solely on uranium os a fuel for nuclear

reactars, Indian scientists warned that ursnium would not last for long and thus
rescarch on tharium as ils must be revived. |
i
(a)  using, substitule H—C=C=cCc—HN
b
-

I—-':_\.-‘ 5

(b)  believing, replacement
(c)” relying. alternntive
(d)  reckoning, option

77, Inan effori to provide ______ [or higher education 1o all, most of the universities

have been providing education without adequate infrasiructure, thus chuming out

produates every year,

(a) chances, fresh
(b) platform, capable

-
IIRI oppartunities, unemployable

(d) prospects, eligible

B-53(SET-A) (19)
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i an outery from residents of thy
78.  The move to allow the dumping of mercury 40 &

: Cwill affect their health
area who that high levels of mereury will affect 1l
ihsi raked, Tear
(ay  resulled, insist (b) provoked,
= i a S " u e - 1!
(¢}  incited, determined (i) octivaled, aveer

. . Jdewe 1t [ ICues are
79.  In the sentence piven below a word is printed bold, Below it four choices

piven, Select the word whiclt is elosest in meaning to the word printed in bold anc
can replace it withowt altering the meaning ol the sentence.
The leader nodded his apprahation.
(a)  understanding, (h) approval
()  admiration (d) adulation
80.  Inthe following question choose the word which best expresses the meaning of the
piven word: NMeld
(1)  Soothe (LY Merge
(¢) Purchase (d} Clisten
Fill in the blonks with one ol Lhe options piven:

81.  The member countries of BRICS nre

(@)  Britain, Russia, Ireland, Canada and Sweden
(b)  Brazil, Russia, Indonesia, China and South Africa
(¢)  Brozil, Russia, India, China and South Afrien

(d)  Britain, Russia, Indla, Canada and Spain
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are

nnd

the

was n German philosopher, economist ond revolutionary

2 -
souinlist,
()  David Ricardo (b) Karl Marx
()  Adam Smith (d) Joln Maynard Keynes
§3. Rashid is well pequainted _ him.
(&) of (b) a
(c) with (d) by
84, Choose the word which is the exset OPPOSITE of the word; Expand
(a)} Convert (b) Condense
)" Congest (d) Conclude
85, Which scientist dlscovered the radivactive element mdium? LA
(a)  Isase Newton (h) Alben I:'i.u.z*.tr:lnﬁI | [
(¢) Benjamin Franklin (d) Maurie Curie 'E:'J‘
8o,  Parul walked 50 meters townrds Nonh, took o lefl tum nnd\«'uﬁ;ted 40 metres. She
npain took a left turn and walked 50 metres. How fur is she from the starting point?
(o) 100 metres (b) 60 metres
(5/ 70 metres '{i]{ 40 metres
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What number should replace the (uestion mark?

87.
I 13 15
22 24
- a| |2
=2k 2 -
53

af 33 (b) 23

(c) 43 (d) 32
88,  What number should come in the place of the question mark?

1|9 | 25] 7 |81 [121

(n) 46 (b) 36

&y 49 (d) 52
89. Milk of magnesin is:

(a) Antocids 7 (b) Bleaching powder

(¢) Sodium chloride (d) Methyl orange
90, Anecarthquake can also be known by which of the following terms?

(3) Quake | . (b) Tremor

(¢) Temblar (d) all of the above
91. In which of the following is the "ring of fire" located?

(a) Antarctica (b) Atlantic Ocean

(¢) Indian Ocean (d) Pacific Ocean
92. Remote sensing involves the use of

(a) EMR (b) NMR

(¢) ESR (d) SSR
B-53(SET-A) (22)
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93.  Voltameter can not be used to measure
(@)  Current (b) Electrochemical equivalent
(¢}  Potential difference (d) Charge
94.  The nbsorption of ink by blotting paper involves
(@)  Diffusion \[{ﬂ/Cupillmj' action
{V Viscosity (d) Surface tension
95. Which ofnhe following is the smallest temperuture? N e
@ 1°F By 1R & 8
1K (d) 1°C
96. A body at rest can have
(a)  Speed (b) Velocity
(¢)  Momentum €}~ Energy S
7. Which of the following is a senlar quantity? L
(a) Moment of a force {h]"' Power
(¢)  Acceleration (d) Eleetrie field
%.  Pakyong Airport is greenfield airport near
(1)  Gangtok (b) Assam
(¢)  Mizoram (d) None
9. Prague is the capital of
(@) Croatia (b) Czech Republic
(¢) Liberia (d) Lebanon
MSET.) (23)
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100. Which of the following is correct sequence of sea ports of India from "South to

North™?
(a)  Cochin = Thiruvananthapuram —» Calicut — Mangalore
(by  Calicut — Thiruvananthapuram —» Cochin — Mangalore

Thiruvananthapuram — Cochin — Calicut —» Mangalore

(¢c)
(dy  Thimavananthapuram — Calicut — Mangalore —» Cochin
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